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run; 
 
What is written to the output raw data file? 
 
A. ----I----10---I----20---I----30 

Alfred 14 
Alice 13 
Barbara 13 
Carol 14 

B. ----I----10---I----20---I----30 
Alfr14 
Alic13 
Barb13a 
Carol 4 

C. ----I----10---I----20---I----30 
Alfr14ed 
Alic130 
Barb13ara 
Caro141 

D. ----I----10---I----20---I----30 
Alfred14 
Alice13 
Barbara13 
Carol14 

 
Correct Answer: B 
 
 
QUESTION 58 
Given the SAS data set EMPLOYEES: 
 
EMPLOYEES 
 
NAME SALARY 
 
------- ------------ 
 
Innis60000 
 
Jolli50000 
 
Ellis55000 
 
Liu45000 
 
The following SAS program is submitted: 
 
proc print data = employees; where name like `_i%'; 
 
run; 
 
What is contained in the output? 
 
A. Liu only 
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B. Innis and Ellis only 
C. Innis, Ellis, and Liu only 
D. Innis, Jolli, Ellis, and Liu 
 
Correct Answer: A 
 
 
QUESTION 59 
What describes the SAS automatic _ERROR_ variable? 
 
A. The _ERROR_ variable contains the values `TRUE' or `FALSE.' 
B. The _ERROR variable maintains a count of the number of data errors. 
C. The _ERROR_ variable can be used in expressions or calculations in the DATA step. 
D. The ERROR_variable contains the number or the observation that caused the error. 
 
Correct Answer: C 
 
 
QUESTION 60 
The following SAS program is submitted: 
 
data test; 
 
set sasuser.employees; 
 
if 2 le years_service le 10 then 
 
amount = 1000; 
 
else amount = 0; 
 
amount_per_year = years_service / amount 
 
run; 
 
What is the value of the variable AMOUNT_PER_YEAR if an employee has been with the 
company for one year? 
 
A. 0 
B. 0.001 
C. 1 
D. . (missing numeric value) 
 
Correct Answer: D 
 
 
 
 
 
 
 
 
 
QUESTION 61 
The SAS data set WORK.ONE contains a numeric variable named Num ana character variable 
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named Char: 
 
WORK.ONE 
 
Num Char 
 
----- ------ 
 
1 23 
 
3 23 
 
1 77 
 
The following SAS program is submitted: 
 
proc print data=WORK.ONE; 
 
where Num='1'; 
 
run; 
 
What is output? 
 
A. Num Char 

-- ---- 
1 23 

B. Num Char 
-- ---- 
1 23 
1 77 

C. Num Char 
-- ---- 
1 23 
3 23 
1 77 

D. No output is generated. 
 
Correct Answer: D 
 
 
QUESTION 62 
The following SAS program is submittad: 
 
data work.sales; 
 
do year = 1 to 5; 
 
do month=1 to 12; 
 
x+1; 
 
output 
end; 
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end; 
 
run; 
 
How many observations are written the WORK SALES data set? 
 
A. 0 
B. 1 
C. 5 
D. 60 
 
Correct Answer: D 
 
 
QUESTION 63 
Given the SAS data set PRICES: 
 
PRICES 
 
Prodid priceproducttypesalesreturns 
 
K1255.10NETWORK152 
 
B132S 2.34HARDWARE30010 
 
R18KY2 1.29SOFTWARE255 
 
3KL8BY 6.37HARDWARE12515 
 
DY65DW 5.60HARDWARE455 
 
DGTY23 4.55HARDWARE672 
 
The following SAS program is submitted: 
 
data hware inter cheap; 
 
set prices(keep = productype price); 
 
if producttype = `HARDWARE' then output hware; else if producttype = `NETWORK' then output 
 
inter; if price le 5.00; 
 
run; 
 
if producttype = `HARDWARE' then output hware; else if producttype = `NETWORK' then output 
 
inter; if price le 5.00; 
 
run; 
 
How many observations does the HWARE data set contain? 
 
A. 0 
B. 2 
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C. 3 
D. 4 
 
Correct Answer: D 
 
 
QUESTION 64 
Which statement is true concerning the SAS automatic variable _ERROR_? 
 
A. It cannot be used in an if/then condition. 
B. It cannot be used in an assignment statement. 
C. It can be put into a keep statement or keep= option. 
D. It is automatically dropped. 
 
Correct Answer: D 
 
 
QUESTION 65 
Given the SAS data set EMPLOYEE INFO: 
 
EMPLOYEE_INFO 
 
IDNumber 
 
Expenses 
 
2542 
 
100.00 
 
3612 
 
133.15 
 
2198 
 
234.34 
 
2198 
 
111.12 
 
The following SAS program is submitted: 
 
proc sort data = employee_info; 
 
<insert BY statement here> 
 
run; 
 
Which BY statement completes the program and sorts the data sequentially by ascending 
expense values within each ascending IDNUMBER value? 
 
A. by Expenses IDNumber; 
B. by IDNumber Expenses; 
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